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A. LISTENING (1 pt)

I. TRẮC NGHIỆM NGÔN NGỮ (3,5 điểm)

Part 1. You will hear a conversation, between two men talking on the radio about job. Choose the correct answer from A, B or C for each question. 

1. When did Toby get a job with Atkins Engineering?

A. when he was a university student 

B. as soon as he finished university 

C. six months after he finished university
2. What is Toby working on at the moment?


A. a new motorway
B. houses and flats
C. a new airport
3. When Toby began working, he was surprised to spend so much time ________.


A. talking to other people.
B. sitting in an officc.
C. designing buildings.

4. Young people often don't choosc engineering because they think ________.


A. it’s hard to get a job.
B. it's probably boring.
C. it’s not very well paid.

5. What is a disadvantage of the job for Toby?

A. He finds it difficult to take holidays.

B. He can't organise his spare time.
C. He works too many hours.

Part 2. You will hear a man talking on the radio about a new sports and fitness centre. 

Fill in each blank with no more than two words or numbers.


PART 1: PHONETICS (0.5 pts - 0.1/ each)

Task 1: Choose the word (A, B, c or D) whose underlined part is pronounced differently from

that of the rest in each o f the following questions.

11. 
A. advent
B. invent
C. decent
D. percent
12. 
A. pursue 
B. hesitate
C. comparison
D. poster

13. 
A. ragged
B. sacred
C. dogged
D. scared
Task 2: Choose the word (A, B, c or D) whose main stress pattern is different from that o f the

rest in each of the following questions.

14. 
A. questionaire
B. introduce
C. recommend
D. concentrate
15. 
A. continuous
B. scandalous
C. malicious
D. delicious

Your answers:

PART 2: LANGUAGE FUNCTION (0.5 pts - 0.1/ each)

Choose the word or phrase (A, B, C or D) that best completes each of the following exchanges.

16. John: “Could I just do it right now?”-              Jane: “_________.”

A. Yes, you could.   

B. Why not? Go ahead.  

C. Not for me.     

D. Yes, let’s. 

17. Mike: “ I have passed all my examinations!” – Joan: “_________.”

A. My dear!     

B. Well done!     
 

C. Best wishes!      

D. That’s very well! 
18. “_________.”
– “Thank you. We are proud of him.”
A. Your child is just adorable!
B. Can we ask your child to take a photo?
C. Your kid is naughty.

D. I can give your kid a lift to school.
19. -“The test results will be released at 9 am tomorrow!” - “Will it? _________.”
A. Can I wait for it?

B. Could it wait?


C. Yes, please.

D. I can’t wait!
20. “_________.”
- “I love it. It’s great, especially at night.”
A. When do you often listen to classical music?


B. How do you like classical music?
C. What kind of music do you like?


D. How often do you listen to classical music?
PART 3: SYNONYM AND ANTONYM (0.5 pts - 0.1/ each)

Task 1. Choose the word or phrase (A, B, C or D) that is CLOSEST in meaning to the underlined part in each of the following sentences. 

21. As the enemy forces were so overwhelming, our troops had to retreat to a safer position. 

A. powerful 
B. dreadful 
C. overflowing 
D. outgrowing 
overwhelming = powerful (a) hùng mạnh, hùng cường, mạnh mẽ
22. The twentieth century saw a rapid rise in life expectancy due to improvement in public health, nutrition and medicine. 

A. anticipation 
B. expectation 
C. span 
D. prospect


life expectancy = life span tuổi thọ trung bình

23. The tiny irrigation channels were everywhere and along some of them the water was running. 

A. flushing out with water 
B. supplying water
C. cleaning with water 

D. washing out with water 


irrigation = supplying water sự tưới tiêu

Task 2. Choose the word or phrase (A, B, C or D) that is OPPOSITE in meaning to the underlined part in each of the following sentences.

24. We ought to keep these proposals secret from the chairman for the time being.

A. revealed 
B. frequented
C. accessible 
D. lively
secret (a) kín đáo, thầm kín, bí mật; riêng tư
revealed (a) để lộ, tỏ ra, biểu lộ; bộc lộ, tiết lộ
25. They protested about the inhumane treatment of the prisoners.

A. vicious 
B. warmhearted 
C. callous 
D. coldblooded
warm-hearted nhiệt tâm, nhiệt tình; tốt bụng
inhumane (a) không có lòng thương người; độc ác 

PART 4: LEXICO - GRAMMAR (2.0 pts - 0.1/ each)
Choose the word or phrase (A, B, C or D) that best completes each of the following sentences. 
26. Take the number 5 bus and get __________ at Times Square.

A. outside
B. down
C. up
D. off
27. The report would have been accepted ____________ in checking its accuracy.

A. if more care

B. more care had been taken


C. had taken more care

D. had more care been taken
28. No longer __________ do all the housework with their hands.

A. have women to
B. do women have
C. do women have to
D. women have to

29. In many ways, riding a bicycle is similar _____________.

A. to the driving of a car
B. when you drive a car

C. to when driving a car
D. to driving a car
30. Today many serious childhood diseases _____________by early immunisation.

A. are preventing
B. can be prevented
C. prevent
D. can prevent

31. The dress Arid wore _______ with small, glassy beads, creating a shimmering effect. 

A. titillated 
B. reiterated 
C. scintillated 
D. enthralled
- titillate (v) cù, làm cho buồn cười
- reiterate (v) tóm lại, nói lại, lập lại

- scintillate (v) nhấp nháy, lấp lánh, long lanh - enthrall (v) mê hoặc, làm mê mệt

32. Being able to afford this luxury car will ______ getting a better- paying job. 

A. maximize 
B. recombinant 
C. reiterate 
D. necessitate 
33. Levina unknowingly ______ the thief by holding open the elevator doors and ensuring his escape.  

A. coerced 
B. proclaimed 
C. abetted 
D. sanctioned 

34. Shakespeare, a(n) ______writer, entertained audiences by writing many tragic and comic plays. 

A. numeric 
B. obstinate 
C. generic 
D. prolific 
35. I had the ________ experience of sitting next to an over-talkative passenger on my flight home from Brussels. 

A. satisfactory 
B. commendable 
 C. galling 
D. acceptable 

36. Mary failed in her exams because she played computer games a lot. She _______ too much.

A. shouldn’t have played  
B. shouldn’t play       

C. should play     

D. wouldn’t have played

37. My father dislikes ___________ while he is speaking.

A. to be interrupting 
B. being interrupted
C. to interrupt     
D. to interrupt

38. ___________ all the exercises, Nam handed in the paper.

A. Having done 
B. Doing    
C. He has done   
D. After had done

39. I hate him. I have ___________ of meeting him again.

A. no intentions
B. no intention 
C. not intended 
D. intended 

40. Friendship is a ___________  affair; it lives by give-and-take.

A. two-sided 
B. two-side 
C. two sides 
D. two-sides  

41. I saw a wad of dollar notes exactly  ___________ the ones my father had given me.                           

A. as 
B. the same 
C. alike  
D. like
42. A: “Are you coming on Saturday?” – B: “____________.”

A. I’m afraid not
B. I’m afraid not to
C. I’m afraid to
D. I’m afraid I don’t

43. He was the first visitor   ____________ to our house.

A. invited 
B. inviting  
C. who invite 
D. to be invited  
44. ________my mother's encouragement, I wouldn't have made such a daring decision.
A. In spite of
B. Providing
C. But for
D. Due to
45. The young lady sat still in the afternoon breeze, with her hair________her back.
A. streaming down
B. fallen against
C. flowed down
D. running over
II. TỰ LUẬN KIẾN THỨC NGÔN NGỮ (1,5 điểm)

PART 1: WORD FORM (0.5 pts – 0.05/ each)
Give the correct form of the words in brackets to complete the following sentences.

	46. Nobody gets preferable treatment in this office. 
	PREFER

	47. She won the first prize in the contest due to her persuasiveness. 
	PERSUADE

	48. Meiling signed up for the economic course. 
	ECONOMY

	49. She took the job to be financially independent. 
	FINANCE

	50. Our education must put an end to illiteracy. 
	LITERATE

	51. Please acknowledge our letter of the 14th. We have not had a reply. 
	KNOW

	52. I was late because I underestimated how much time I would need. 
	ESTIMATE

	53. The unresponsive audience made the lecturer somewhat  disheartened. What a shame! 
	HEART

	54. Unaccompanied children will not be allowed to cross busy roads. 
	ACCOMPANY

	55. She complained about his rudeness incessantly / ceaselessly 
	CEASE


PART 2: ERROR CORRECTION (0.5 pts – 0.1/ each)
There are 05 errors in the following passage. Identify the errors, write the line number and correct them. Write your answers in the numbered spaces below. Number (00.) is done as an example.

	Line
	Passage

	1

2

3

4

5

6

7

8

9

10

11

12

13
	The habits of those who constant play video games are very important to people working in video-game industry. If video games are going to be one of the more attractive features of future interactive systems, it is essential for producers to know what types of games to make, how best to present so games on interactive video and how to ensure that such games maintain their fascination for people. Above all, it is vital to build up detailed profiles of people who are addicted to video games. Until recently, the chief market for video games has been boys age eight to fifteen. The fascination for interactive video games is seen in its purest form in this group. Video games appeal to some deep instinct in boys who find it impossibly to tear themselves away from them. Schoolwork is ignored, health is damaged and even eating habits are affected. Girls of the same age, however, are entirely different, demonstrating far greater freedom from the hold of video games. Quiet simply, they can take video games in their stride, being able to play them when they want and then leave them alone.


	Line
	Error
	Correction

	1
	00. constant
	( constantly

	2
	56. more
	( most

	4
	57. so
	( such

	7
	58. age
	( aged

	9
	59. impossibly
	( impossible

	12
	60. Quiet
	( Quite


PART 3: PREPOSITIONS AND PHRASAL VERBS (0.5 pts – 0.05/ each)

Supply each space with a suitable preposition or adverbial particle to complete each of the following sentences. 

61. The car is in quite good condition but you can try it out before you make any decision to buy.

62. According to what he says, he wasn’t even there when the crime was committed.

63. According to a recent survey, most people are on good terms with their neighbours.

64. As he wanted to go to university, David decided to turn over a new leaf and study harder.

65. On arriving at the airport, I was very worried to find that no one had waited for me.

66. Environmental organisations have been set up to inform people and gain their support.
67. I can't understand why you have to make such a fuss about something so unimportant.
68. I’m afraid Mr. Logan isn’t in the office today, but I can put you through to his secretary. 

69. I've asked around but nobody knows what time the concert will finish on Saturday.

70. On hearing the news of his mother's death, the boy broke down and couldn't be consoled.

- try out = test kiểm tra thử

- according to = theo như

- be on good terms with = get on well with có mối qua hệ hòa hảo với

- turn over a new leaf (idiom) = start behaving in a better way:
Apparently he's turned over a new leaf and he's not smoking any more.

On + V_ing khi làm gì

KỸ NĂNG NGÔN NGỮ 

PART 1: READING (2 pts - 0.1/ each)

Task 1: GUIDED CLOZE TEST 

Choose the word or phrase (A, B, C or D) that best fits each blank in the following passage.

Health and fitness are not just for young people. They are for anyone willing to accept the (71) ______ for a good diet and (72) ________ exercise. With age, there is a tendency to feelthat the body is no longer able to (73) ________. Aches and pains are (74) ________ normal. Instead of pushing the body to do (75) ________, activities become limited. Yet examples after examples have shown us that older people can – and should – be (76) ________. Men and women in their sixties have run in marathons, races of more than twenty-six miles. Some professional athletes stay (77) ________ into their forties and fifties. For most people, simple activities like walking and swimming are all that is needed to stay in (78) ________. It’s important to include exercise in your daily routine.In the winter, (79) ________ push-ups, sit-ups, and other indoor exercises. Of course, such exercises will be of little use (80) ________ you follow them with soda and chips. 

71. A. discipline  
B. ruling  
C. strictness  
D. regulation

72. A. useful  
B. regular
C. much  
D. little

73. A. run  
B. malfunction  
C. operate  
D. perform
74. A. believed  
B. thought  
C. considered
D. made  

75. A. weaker  
B. more  
C. greater  
D. faster

76. A. eager  
B. bold  
C. active  
D. passive

77. A. competitive  
B. passive  
C. equal  
D. comparative
78. A. need  
B. form  
C. contact  
D. shape
79. A. make  
B. get  
C. work  
D. do
80. A. although  
B. unless  
C. if  
D. otherwise

Task 2: READING COMPREHENSION 

Read the passage and choose the best answer for each question below. 

Traditionally in America, helping the poor was a matter for private charities or local governments. (1_Arriving immigrants depended mainly on predecessors from their homeland to help them start a new life). In the late 19th and early 20th centuries, several European nations instituted public-welfare programs. (2_But such a movement was slow to take hold in the United States because the rapid pace of industrialization) and the ready availability of farmland seemed to confirm the belief that anyone who was willing to work could find a job.

(5_Most of the programs started during the Depression era were temporary relief measures), but one of the programs - Social Security - has become an American institution. (4_Paid for by deductions fromthe paychecks of working people), Social Security ensures that retired persons receive a modest monthly income and also provides unemployment insurance, disability insurance, and other assistance to those who need it. Social Security payments to retired persons can start at age 62, but many wait until age 65, when the payments are slightly higher. (6_Recently, there has been concern that the Social Security fund may not have enough money to fulfill its obligations in the 21st century, when the population of elderly Americans is expected to increase dramatically). Policy makershave proposed various ways to make up the anticipated deficit, but a long-term solution is still being debated.

(7_In the years since Roosevelt, other American presidents have established assistance programs. These include Medicaid and Medicare); food stamps, certificates that people can use to purchase food; and public housing which is built at federal expense and made available to persons on low incomes. 

(8_Needy Americans can also turn to sources other than the government for help). A broad spectrum of private charities and voluntary organizations is available. (9_Volunteerism is on the rise in the United States, especially among retired persons. It is estimated that almost 50 percent of Americans overage 18 do volunteer work, and nearly 75 percent of U.S. households contribute money to charity).

81. New immigrants to the U.S. could seek help from ______. 

A. the people who came earlier  
B. the US government agencies

C. only charity organizations  
D. volunteer organizations

82. It took welfare programs a long time to gain a foothold in the U.S. due to the fast growth of ______. 

A. industrialization  
B. modernization  
C. urbanization  
D. population

83. The word “instituted” in the first paragraph mostly means ______. 

A. executed  
B. studied  
C. introduced  
D. enforced

84. The Social Security program has become possible thanks to ______. 

A. deductions from wages  
B. people’s willingness to work

C. donations from companies  
D. enforcement laws

85. Most of the public assistance programs ______ after the severe economic crisis. 

A. were introduced into institutions  
B. did not become institutionalized
C. functioned fruitfully in institutions  
D. did not work in institutions

86. That Social Security payments will be a burden comes from the concern that ______. 

A. elderly people ask for more money  
B. the program discourages working people

C. the number of elderly people is growing  
D. younger people do not want to work

87. Persons on low incomes can access public housing through ______. 

A. low rents  
B. state spending  
C. donations  
D. federal expenditure
88. Americans on low incomes can seek help from ______. 

A. federal government  
B. government agencies

C. state governments  

D. non-government agencies
89. Public assistance has become more and more popular due to the ______. 

A. young people’s voluntarism only  
B. volunteer organizations

C. people’s growing commitment to charity  
D. innovations in the tax system

90. The passage mainly discusses ______. 

A. public assistance in America  
B. immigration into America

C. funding agencies in America  
D. ways of fund-raising in America

PART 2: WRITING (2 pts)

Task 1: SENTENCE TRANSFORMATION (1.0 pt – 0.2/ each)

Rewrite the following sentences in such a way that their meanings remain unchanged, using the words given. 

91. We couldn’t have managed without my father’s money.

( If it hadn’t been for my father’s money, we could not have managed.

92. The only thing they didn’t steal was the television.

( They stole everything except for/but/apart from the television.
93. She started to clean up the house just after the guests had left.

( No sooner had the guests left than she started to clean up the house.
94. The deaths of almost sixty people were caused by the tornado. (resulted)
( The tornado resulted in the deaths of almost sixty people.
95. Someone paid five thousands pounds for the painting. (went)
( The painting went for five thousand pounds.
Part 2: 

In about 140 words, write a paragraph about why is it important to protect our environment? What should we do to fulfill this task? 
…………………………………………………………………………………………………………………………………………………………………
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ĐÁP ÁN ĐỀ THI ĐỀ XUẤT CHUYÊN BÌNH PHƯỚC

NĂM HỌC 2019 – 2020

--------------------------------------------------
A. LISTENING (1 pt)

I. TRẮC NGHIỆM NGÔN NGỮ (3,5 điểm)

Part 1. You will hear a conversation, between two men talking on the radio about job. Choose the correct answer from A, B or C for each question. 

1. C
2. C
3. A
4. B
5. B

Part 2. You will hear a man talking on the radio about a new sports and fitness centre. 

Fill in each blank with no more than two words or numbers.

6. 16th June
7. lake

8. basketball 
9. 50/fifty 
10. rception 
PART 1: PHONETICS (0.5 pts - 0.1/ each)


11. C
12. B
13. D
14. D
15. B
PART 2: LANGUAGE FUNCTION (0.5 pts - 0.1/ each)

Choose the word or phrase (A, B, C or D) that best completes each of the following exchanges.

16. B
17. B
18. A
19. D
20. B

PART 3: SYNONYM AND ANTONYM (0.5 pts - 0.1/ each)


21. A
22. C
23. B
24. A
25. B

PART 4: LEXICO - GRAMMAR (2.0 pts - 0.1/ each)
Choose the word or phrase (A, B, C or D) that best completes each of the following sentences. 
26. D
27. D
28. C
29. D

30. B
31. C
32. D
33. C

34. D
35. C
36. A
37. B

38. A
39. B
40. A
41. D

42. A
43. D
44. C
45. A
II. TỰ LUẬN KIẾN THỨC NGÔN NGỮ (1,5 điểm)

PART 1: WORD FORM (0.5 pts – 0.05/ each)
Give the correct form of the words in brackets to complete the following sentences.

46. preferable 
47. persuasiveness. 

48. economic
49. financially

50. illiteracy. 
51. acknowledge 

52. underestimated 
53. disheartened

54. Unaccompanied 
55. incessantly. 

PART 2: ERROR CORRECTION (0.5 pts – 0.1/ each)
There are 05 errors in the following passage. Identify the errors, write the line number and correct them. Write your answers in the numbered spaces below. Number (00.) is done as an example.

	Line
	Passage

	1

2

3

4

5

6

7

8

9

10

11

12

13
	The habits of those who constant play video games are very important to people working in video-game industry. If video games are going to be one of the more attractive features of future interactive systems, it is essential for producers to know what types of games to make, how best to present so games on interactive video and how to ensure that such games maintain their fascination for people. Above all, it is vital to build up detailed profiles of people who are addicted to video games. Until recently, the chief market for video games has been boys age eight to fifteen. The fascination for interactive video games is seen in its purest form in this group. Video games appeal to some deep instinct in boys who find it impossibly to tear themselves away from them. Schoolwork is ignored, health is damaged and even eating habits are affected. Girls of the same age, however, are entirely different, demonstrating far greater freedom from the hold of video games. Quiet simply, they can take video games in their stride, being able to play them when they want and then leave them alone.


	Line
	Error
	Correction

	1
	00. constant
	( constantly

	2
	56. more
	( most

	4
	57. so
	( such

	7
	58. age
	( aged

	9
	59. impossibly
	( impossible

	12
	60. Quiet
	( Quite


PART 3: PREPOSITIONS AND PHRASAL VERBS (0.5 pts – 0.05/ each)

Supply each space with a suitable preposition or adverbial particle to complete each of the following sentences. 

61. out 
62. to 

63. with 
64. over  
65. On 

66. up 

67. about 
68. through
69. around 
70. down 

KỸ NĂNG NGÔN NGỮ 

PART 1: READING (2 pts - 0.1/ each)

Task 1: GUIDED CLOZE TEST 

Choose the word or phrase (A, B, C or D) that best fits each blank in the following passage.

71. A
72. B
73. D
74. C  
75. B

76. C
77. A
78. D
79. D
80. A

Task 2: READING COMPREHENSION 

Read the passage and choose the best answer for each question below. 

81. A
82. A
83. C
84. A
85. B

86. C
87. D
88. D
89. C
90. A

PART 2: WRITING (2 pts)

Task 1: SENTENCE TRANSFORMATION (1.0 pt – 0.2/ each)

Rewrite the following sentences in such a way that their meanings remain unchanged, using the words given. 

91. If it hadn’t been for my father’s money, we could not have managed.

92. TThey stole everything except for/but/apart from the television.
93. No sooner had the guests left than she started to clean up the house.
94. The tornado resulted in the deaths of almost sixty people.
95. The painting went for five thousand pounds
Crossways sports and fitness centre


- The sports centre opens on (6) 16th June


- The fitness centre has a view across the (7) lake


- The indoor sports offered are squash, volleyball, (8) basketball and table tennis.


- The new swimming pool is (9) 50/fifty metres in length.


- You can book a class at (10) reception or by phone.











